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(a) Deline llle ternr Cotflicrent of|tiction'

(1,) A1''.ll3 's ilclilrednt Ii tolh( horiTonlal llclorceof5kgactingpalallel

o 'r .'lane vrill lLlit preretrl jr uetght of l2 kg from sliding duwlr' linLl the

coeili!ient offtictioI

(a) Br ie fl-v clescribe tlre 3 lorms of nleclranical energy'

(t,) l0 Ni oliwater is lilled to a heighl ol-10 m ancl deliverecl witlr a velocily ol'
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;. ,t'. uorotr'l oIcnergv is slicnt durinP 
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ir*i:r'"ue. of thepumpif tlre o'"etall ellicienev is 60olo'i

;".il il;ii;;' tcqrri.ccl to lill tlte watet is 20 nrinrnes


